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Enrollment No: _______________________         Exam Seat No: _______________________ 

C.U. SHAH UNIVERSITY 
Summer Examination-2019 

 

Subject Name: Maintenance Engineering  
 

Subject Code: 2TE06MTN1    Branch: Diploma (Mechanical) 

    

Semester: 6        Date: 25/04/2019   Time: 10:30 To 01:30  Marks: 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 
(14)  

 a)  To keep machines, plants and process equipments in their efficient 

conditions, the maintenance activities are planned and carried out is 

known as __________. 

(A)Maintenance engineering       (B) Maintenance                

(C)Maintenance cost                    (D)Service life 

 

 b)  ______________ is planned with a view to reduce breakdown, machines, 

units and parts of the units if found failing repeatedly due to same detect, 

then units & their parts are redesigned and used to prevent breakdown. 

 (A)Corrective maintenance            (B) Planned maintenance  

(C)Breakdown maintenance           (D) Predictive maintenance 

 

 c)  Equation of total life average method of replacement is   

(A)Average cost per year = approximate life/total cost 

(B) Average cost per year = total cost / approximate life 

(C)Approximate life x total cost 

(D) None of above  

 

 d)  Which method is not used for selection of replacement? 

(A)Present worth method of replacement         

(B)Rate of return method of replacement  

(C)Total life average method of replacement   

(D)Direct cost method of replacement  

 

 e)  Which of the following is a cause of molecular wear? 

(A)Overloading of the parts               (B)Parts fitted under high pressure  

(C)Oxidation of the surfaces              (D)Use of improper tools 

 

 f)  Due to wear and tear, the clearances adjusted are changing, which is 

producing _________ of machine. 

(A)Noise operation                    (B)Vibration 

(C) Quality reduction              (D)Lowered efficiency  

 

 g)  The symbol of “assumptions made which are naturally controlled” in a 

decision tree is  
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(A)Rectangle              (B) Circle                (C) Square           (D)  Triangle  
 h)  Activities involved in fault tracing is  

(A)Isolate the faulty system           (B) Decide relevant faulty system   

(C)Assemble the sub system          (D)All of the above 

 

 i)  Which of the following method is for degreasing and cleaning? 

(A)Manual cleaning method                   (B) Thermal cleaning method     

(C)Periodic cleaning method                  (D)All of the above 

 

 j)  Which of the following is overhauling mechanical component? 

(A)Chuck         (B) Operating valve          (C) Gear            (D) Piston  
 

 k)  Advantage of preventive maintenance is  

(A)Unit cost of production reduces (B) Productivity of industry increases 

(C) (a)&(b)                                       (D None of the above  

 

 l)  Factors to be considered in periodic inspection is 

(A)Misalignments               (B)Work involved in each stage     

(C)Bad workmanship          (D) Rough finish on surfaces  

 

 m)  Which method is pitting type corrosion? 

(A)Erosion corrosion            (B) Crevice corrosion       

(C)Galvanic corrosion          (D)  Selective corrosion 

 

 n)  Secondary methods of corrosion prevention is 

(A)Chemical prevention        (B) Cathodic prevention        

(C)Distillation prevention     (D) Erosion prevention  

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 A Explain factors affecting on service life of machine 07 

 B Define maintenance cost and state 8 factors affecting it. 07 

Q-3  Attempt all questions (14) 

 A State the wear reduction methods and explain in brief any three. 07 

 B How wear can be reduced by improved methods of lubrication. Explain 

the difference between anodic protection and cathodic protection. 
07 

Q-4  Attempt all questions (14) 

 A Explain logical approach for activites for fault tracing sequence. 07 

 B Prepare decision tree for low steam pressure in boiler. 07 

Q-5  Attempt all questions (14) 

 A State the rules of assembly and disassembly. 07 

 B List the steps of disassembling the parts of tail stock prepare its check 

list. 
07 

Q-6  Attempt all questions (14) 

 A Explain the procedure of installing new equipments. 07 

 B State and explain types of fire in the production industry. 07 

Q-7  Attempt all questions (14) 

 A Explain in brief the galvanic and crevice corrosion.  07 

 B Explain principle of surface corrosion and state the factors affecting the 

corrosion. 
07 

Q-8  Attempt all questions (14) 

 A List for application of retro filling explain any one 07 

 B What is preventive maintenance? And what are needs of preventive 

maintenance in industry. 
07 
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ગજુરાતી 

પ્ર.૧  નીચના બધા જ પ્રશ્નોના જવાબ લખો. (૧૪)  
 a)  ભળીનો, પ્રાન્ટ અને પ્રક્રિમા વાધનોને તેભની કામયક્ષભ ઩ક્રયસ્થથતતઓભાાં યાખલા ભાટે, 

જા઱લણીની પ્રવતૃિઓન ાં આમોજન અને તેન ાં વ ાંચારન __________ તયીકે થામ છે. 
(અ) જા઱લણી ઇજનેયી (ફ) જા઱લણી ક) જા઱લણી ખચય (ડ) વેલા જીલન 

 

 b)  બ્રેકડાઉન, ભળીન ય તનટ અને ય તનટના ઩ાર્ટયવ લાયાંલાય કોઈ કાયણવય ફગડતા શોમ. 
ય તનટ અને ઩ાર્ટયવન ાં બ્રેકડાઉન તનલાયલા પયી ડીઝાઈન કયલા જે ભેન્ટેનન્વ પ્રાન્ડ 
કયલાભાાં આલે તેને ___ કશલેાભાાં આલે છે.  
(અ) કયેકટીલ ભેન્ટેનન્વ      (ફ) પ્રાનેડ ભેન્ટેનન્વ  

(ક) બ્રેક ડાઉન ભેન્ટેનન્વ     (ડ) તપ્રડીકટીલ ભેન્ટેનન્વ 

 

 c)  યીપ્રેવભેન્ટ ટોટર રાઈપ એલયેજ ભેથડ ન ાં વભીકયણ  

(અ) લ઴યની એલયેજ કોથટ = અંદાજજત રાઈપ / ટોટર કોથટ 

(ફ) લ઴યની એલયેજ કોથટ = ટોટર કોથટ  / અંદાજજત રાઈપ 

(ક) અંદાજજત રાઈપ x ટોટર કોથટ  

(ડ) એક ઩ણ નક્રશ  

 

 d)  યીપ્રેવભેન્ટ ભાટે કઈ ભેથડ લ઩યાતી નથી?  

(અ) પે્રઝન્ટ લોથય ભેથડ                  (ફ) યેત ઓપ યીટનય    
(ક) ટોટર રાઈપ એલયેજ ભેથડ    (ડ) ડાઈયેકટ કોથટ ભેથડ  

 

 e)  નીચેના ભાાંથી કય ાં કાયણ ભોરેક્ય રય ઘવાયા ભાટે ન ાં છે? 

(અ) ઩ાટયન  ાં ઓલયરોડીંગ               (ફ) ઉચ્ચ દફાણ શઠે઱ યશરેો ઩ાટય    (ક) 
વ઩ાટીન ાં ઓક્રકવડેળન              (ડ) મોગ્મ ર્રૂ નો ઉ઩મોગ  

 

 f)  તલમય અને ટીમય ના રીધે, ક્રીમયન્વભાાં પેયપાય આલે છે જે ભળીનભાાં ______ ઉત્઩ન 
કયે છે. 
(અ) અલાજ  (ફ) લાઈબ્રેળન   (ક) ક્લોરીટીભાાં ઘટાડો  (ડ) ઓછી કામય ક્ષભતા  

 

 g)  તનણયમ વકૃ્ષભાાં "ધાયણાઓ જે ક દયતી યીતે તનમાંતિત છે" નો તવમ્ફોર છે  
(અ) રાંફચોયવ     (ફ) વકયર     (ક) ચોયવ   (ડ) તિકોણ  

 

 h)  પોલ્ટ ટે્રતવિંગભાાં વાભેર પ્રવતૃિઓ છે 

(અ) ક્ષતતગ્રથત તવથટભ અરગ      (ફ) વાંફ ાંતધત ખાભીય ક્ત તવથટભ નક્કી કયો 
(ક) ઩ેટા તવથટભ                    (ડ) ઉ઩યના ફધા 

 

 i)  નીચે આ઩ેરાભાાંથી કઈ ઩દ્ધતત ડે્રતવિંગ  અને વપાઈ ભાટે છે? 

(અ) ભેન્ય અર વપાઈ ઩દ્ધતત           (ફ) થભયર વપાઈ ઩દ્ધતત 

(ક) વભમાાંતયે વપાઈ ઩દ્ધતત           (ડ) ઉ઩યોક્ત તભાભ 

 

 j)  નીચેના ભાાંથી કમો ઓલયશોરીંગ ભીકેનીકર કમ્઩ોનન્ટ છે? 

(અ)ચક     (ફ) ઓ઩યેટીંગ લાલ્લ     (ક) ગીમય    (ડ) ઩ીથટન   

 

 k)   તપ્રલેન્ટીલ ભેન્ટેનન્વ નો પામદો  
(અ) ઉત્઩ાદનની એકભ કોથટભાાં ઘટાડો   (ફ) ઈન્ડથટ્રીઝની ઉત્઩ાદકતાભાાં લધાયો  
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(ક) અ અને ફ ફાંને                      (ડ) એક ઩ણ નક્રશ  
 l)  વભમાાંતય તનયીક્ષણભાાં જે ઩ક્રયફ઱ો ધ્માનભાાં રેલાભાાં આલે છે  

(અ) તભવઅરાઈભેન્ટ                    (ફ) દયેક તફક્કાભાાં વાભેર કાભ      

(ક) ખયાફ લકયભેન ળી઩                (ડ) વ઩ાટીની યપ પીનીળ  

 

 m)  નીચેના ભાાંથે કઈ ઩ીટીંગ કયોઝ્ન ભેથડ છે? 

(અ) ઈયોઝન કયોઝ્ન (ફ) િીલાઈઝ કયોઝ્ન  (ક)ગેલ્લેનીક કયોઝ્ન (ડ) તવરેક 

 

 n)  કાટતનલાયણની  વેકન્ડયી ઩ધ્ધતત 

(અ) કેતભકર તપ્રલેન્વન               (ફ) કેથોડીક તપ્રલેન્વન     

(ક) ડીથટીરેળન તપ્રલેન્વન            (ક) ઈયોઝન તપ્રલેન્વન   

 

પ્રશ્ન ૦૨ થી પ્રશ્ન ૦૮ માાંથી કોઈ ઩ણ ચાર પ્રશ્નોના જવાબ લખો.  
પ્ર.૨  નીચના બધા જ પ્રશ્નોના જવાબ લખો. (૧૪)  

 A ભળીનની વતલિવ રાઈપ ઩ય અવય કયતા ઩ક્રયફ઱ો વભજાલો.  ૦૭ 

 B ભેન્ટેનન્વ કોથટની વ્માખ્મા આ઩ો અને તેના ઩ય અવય કયતા આઠ ઩યોફ઱ો વભજાલો.  ૦૭ 

પ્ર.૩  નીચના બધા જ પ્રશ્નોના જવાબ લખો. (૧૪)  
 A ઘવાયો ઘટાડલાની ભેથડના નાભ રખો અને કોઈ ઩ણ િણ વભજાલો.  ૦૭ 

 B લ બ્રબ્રકેળનની સ ધાયેરી ઩દ્ધતતઓ દ્વાયા કેલી યીતે ઘવાયો ઘટાડી ળકામ છે. ઍનોક્રડક 
પ્રોટેક્ળન અને કૅથોક્રડક પ્રોટેક્ળન લચ્ચેનો તપાલત વભજાલો. 

૦૭ 

પ્ર.૪  નીચના બધા જ પ્રશ્નોના જવાબ લખો. (૧૪)  
 A પોલ્ટ ટે્રતવિંગ અન િભ ભાટેની પ્રક્રિમાનો રોજજકર અબ્રબગભ વભજાલો. ૦૭ 

 B ફોઈરયભાાં ઓછા દફાણ લ઱ી લયા઱ ભાટે નો તનણયમ વ્ર ક્ષ ફનાલો. ૦૭ 

પ્ર.૫  નીચના બધા જ પ્રશ્નોના જવાબ લખો. (૧૪)  
 A એવેમ્ફરી અને ડીવએવેમ્ફરી ભાટે ણા તનમભો રખો.  ૦૭ 

 B ટેઈર થટોકને ડીવએવેમ્ફર કયલા ભાટેના થટે઩ રખો અને તેન ાં ચેક બ્રરથટ ફનાલો.   ૦૭ 

પ્ર.૬  નીચના બધા જ પ્રશ્નોના જવાબ લખો. (૧૪)  
 A નવ ાં ઈસ્ક્લ઩ભેન્ટ ઈન્વટોર કયલા ભાટેને પ્રક્રિમા વભજાલો.  ૦૭ 

 B ઉત્઩ાદન ઉદ્યોગભાાં આગ અને પ્રકાય રખો અને વભજાલો.  ૦૭ 

પ્ર.૭  નીચના બધા જ પ્રશ્નોના જવાબ લખો. (૧૪)  
 A ગેલ્લેનીક અને િીલાઈઝ કયોઝ્ન વભજાલો.  ૦૭ 

 B વયપેવ કયોઝ્ન નો તવધ્ધાાંત વભજલો અને કયોઝ્ન ઩ય અયવ કયતા ઩ક્રયફ઱ો વભજાલો.   ૦૭ 

પ્ર.૮  નીચના બધા જ પ્રશ્નોના જવાબ લખો. (૧૪)  
 A યીટ્રોપીટીંગ ની ઉ઩મોગીતા રખો અને કોઈ ઩ણ એક વભજાલો.  ૦૭ 

 B તપ્રલેન્ટીલ ભેન્ટેનન્વ શ ાં છે? અને ઉદ્યોગો ભાાં તેની શ ાં જરૂક્રયમાત છે તે વભજાલો.  ૦૭ 

 

 


